Exam III; F4360; Fall, 2003



Name ______________________________

Short answer questions/problems

1.  What role (or part) do the prospectus, red herring, and tombstone advertisement have to do with the process of issuing common stock?
2.  List but do not discuss three basic services investment bankers offer firms that are considering issuing common stock.
3.  What do we call a bond that can be given back to the company in exchange for shares of common stock of the firm?
4.  What are two reasons that bond ratings are important?
5.  What are two qualitative issues we discussed that might make the beta of a firm’s assets higher?
6.  Somewhat Reliable Software Inc. (SRS) has outstanding stock with a book value of $1,000,000 and a market value of $5,000,000.  SRS has outstanding debt with a book value of $2,000,000 and a market value of $1,900,000.  The beta for SRS’s stock is 1.5 and for its bonds is 0.25.  What is your estimate of the beta of SRS’s existing assets?
7.  Under what conditions will the number you calculated in number 6 above provide a good estimate of the beta of a project that SRS is considering?
8.  Reboot Inc. is considering building a new facility and has decided to calculate the beta of the assets for firms in the same industry as the new facility.  What are two advantages of this approach?

9.  If Patch and Patch Inc. uses its weighted average cost of capital to evaluate all new projects it is considering.  What types of projects will Patch and Patch tend to underinvest in?
10.  Under the pecking order theory, what source of funding is only used as a last resort?
Problems/Essays
1.  Books-on-CD Warehouse Inc. has recently announced plans to issue bonds and use the proceeds to repurchase shares of its outstanding stock.  Discuss the benefits of debt that might have lead Books-on-CD to make this change?  What changes might have occurred that would have lead Books-on-CD to conclude that these benefits of debt are now higher than they were?  
2.  Modigliani and Miller show that if markets are perfect, then stockholders are indifferent to how a firm is financed (debt vs. equity).  

a.  Explain the basic intuition behind this conclusion.  

b.  Also discuss how stockholders can undo the impact of an increase in leverage by the firm.  

c.  Finally, discuss how that even if stockholders do not undo the impact of leverage, they are indifferent to the increase in risk they face once the firm increases its leverage.  (Note:  Be as specific as possible).  

